T
|
|

]
O

10'

OPEN BELOW (GWNITE GRAVEL) )
400" 4-10"

|

28" T 12!

1
O
| s}
0 -
LAWN TOOLS S
11-7" X 94" _I'__
%
| M
=
|
[ =
CONCRETE @
12'-0" X 510" 1
[
. I |
| = s s e
STORAGE BARN ]
27'-4" X 39'-4" | |
J o ’ | i i
| i e s
| > I
| o |
| O |
]' ety | ;
| Z & TS
" 4 X ] o
V&S
| (O |
} = 1
L |
| Q |
o o ey & |
& |
O ‘ ‘ | %
| | =
12 no, &
|
|
|
|
|
¥

AREA {SUMMARY

Storagée Barn 28' x 40' = 1120 S.F.
Lawn Tfools 12' x 10' = 120 S.F.

Total Ernclosed 1250 S.F.

Area Ulnder Roof 40' x 50' = 2000 S.F.

S3cale 1/4" = 1'0"

1s~loor

Il

DATE

BY

=

(@]

£

2

(8]

i

(o]

o

=
bt
-
o
>
©
g

"

-

'_.

m

=

wn
c
.
©
o
()]
o
©
®)

o

3 )}

E o

) Q

9 ©

a O

5

&

g

5

(]

w

0

S

Q

=

w

(U]

=

£

=

Q

DATE

SCALE:

SHEET:




Note; Not to Scale

e

I

Front Elevation

Rear Elevation

All Walls 10

w

<

O

&

=

S

5

=

Q

w

fal

o

=
7))
e
(@]
S
©
>
Q
(1T
| -
©
Q
o

R

= ]

E C

O

N T

w
c
| -
©
m
@
o
©
1.
(o)

.. e

E 0))]

E CL

¥ Q

a ©

a U

3)

o

2

2

=]

a

S

(o]

&

w

o

&

£

=

[m}

DATE

SCALE:

SHEET:

[




SNOILVA313 3dIS NYVd 3DOVHOLS ddVS i " o.m m
atw] A8 NOILLdT¥OS3d | "ON ‘UL 133HS INOLLA¥OS3A LO3r0ud :A8 GIQIAO¥d SONIMVYG | | &3 s 5
o
o=
L
'©
=
<
| g
_“—:t——_ _ : &
o S
g w
u -
] . :
S 4
| 2 s
@

M_

Note: Not to Scale

R T A

-



d "I TTY vh Tl pllin

a1va

Ag

NOILdI¥OS3d

‘ON

SM3IA 2AID2dsa2d

$31LIL 133HS

uleg abelols ddeg

‘NOLLdIYDS3a 123[0¥d

‘A€ 03AINOYd SONIMYYA

DATE:

SCALE:

SHEET:




ue|d |ea1d309|3 uieg abelols ddes i ] =
= i
J1vd Ad NOILdI¥OS3d| 'ON I7LIL 133HS ‘NOILdIYOS3A 103rodd ‘A8 Q3AINOYd SONIMYHA m m %
o — — — — e e e —F— = — = —F — — 9
— | |
/ X
/
2
| s . |
N\ \ -—
/ N
V SN |
//
|| 2 v N
_ -~ e B = 7 7
— - - ™
e — — et h = s
| $53
o == EEemssm ey
\_ w 18] mm _\ / _
A,
/ | P _
/ M _ _
y /
& _ / _
= ) m _ \ |
\ i | {
\ /] | /
\ / | /
/ | /
| | /
_ e i e i e
, \ @
s \ A B
/ = —~ = *
4 A
| \
| ,,
| =} \
] / /
_
_
_

I

IRl [




A ' | il ‘II o
% — — —_— —— _ N
i iy s : : [ROOF SHEATHING FASTENING TABLE (RRAFTER / TRUSS SG = 0.49) | GENERAL NOTES:
- e M [Nail spacing | Nail spacing NAIL 0SB TO OR NAIL OSB TO LOWER TOP PLATE & FOR GIRDER TRUSS | CONNECTOR TABLE 2
ind ckn equ 4 :
i Plywood  |Nail 2 lalong panel :{f’;’:o'r't‘:’,:’:;ﬂ’m | UPPERTOPPLATE  STRAP TRUSS TO LOWER TOP PLATE OVER 680 LB UPLIFT Uplift SP[Uplift SPF|Truss Connector To Plate To Truss/Rafter TRUSSES: TRUSSES SHALL BE DESIGNED BY A FLORIDA LICENSED ENGINEER IN
Fhwso o pnoes | (IF POSSIBLE) \ USE (2) MST16———— 615 |485 SDWC15600 3 . Agg'ORDANCE WITH THE FBCR. TRUSS ENGINEERING SHALL INCLUDE TRUSS
: FOR > 860 LB / ; - : DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS,
20meh Liver ‘(“23;;’?. Tgﬁ;’s'fsts e L o dioylog f 415|290 ha Mot e ik TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR
- _ / 575 |49 H2.5A 5-8dx1 112 5-8dx1 1/2 ALL BEARING LOCATIONS. TRUSS ENGINEERING IS THE RESPONSIBILITY OF THE
120 mph |7/16" aﬁ;ﬂﬁg?iaﬁ:?ﬂs—m 6157 oo 6 oc = ; / 1340 1015 H10A 8-10d1 1/2" 9-10d1 1/2" BEUSS MEJ*'\\iNUFACTURER AND SHALL BE SIGNED & SEALED BY THE MANUFACTURER'S
ROOF SHEATHING SEE Exp. C x 0. . : . d SIGN ENGINEER. IT IS THE BUILDER'S RESPONSIBILITY VERIFY THE TRUSS DESIGNER
: ROOF SHEATHING FASTENING DETAIL 120 mph [19/32" ASTM F1667 RSRS-03 = = B itst6—" AR P LISHEED Rl 1 il FULLY SATISFIED ALL THE ABOVE REQUIREMENTS AND TO SELECT UPLIFT CONNEGTIONS
Exp. D (2 1/2" x 0.131") oe i H2.5A = 12-10d X 1 172" 1000 860 MTS12-30 7-10d1 1/2" 7-10d1 1/2" BASED ON TRUSS ENGINEERING UPLIFT AND PROVIDE FOOTINGS FOR INTERIOR BEARING
N T tas abi i 10-80 X 1 112" N T TR R TR TR WALLS. BUILDER IS TO FURNISH TRUSS ENGINEERING TO WIND LOAD ENGINEER FOR
(3" % 0,120 (6) NAILS IN 3 : - ; |REVIEW OF TRUSS REACTIONS ON THE BUILDING STRUCTURE. STRAP 2X6 RAFTERS
PRE-ENGINEERED WOOD ROOF TRUSSES : ST ReE Tl LOWER TOP MTS16 —— Uplift SP|Uplift SPF |Strap Ties To One Member  [To Other Member WITH MIN. UPLIFT CONNECTION 415LB EACH END; 2X8 RAFTERS 700 LB EACH END.
; AT 24" O.C. SELECT TRUSS CONNECTORS |1E ig rgph 7/18 (283;a= o) %16 ac 6" oc PLATE : 14-10d X 1 1/2" 1235  [1235 LSTAZ21 8-10d 8-10d SITE PREPARATION: SITEANALY ~
OR TABLE - ; > - ION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN =
EECR)M;FIS&SAESSFT LOADS 130 mph | 15/32" ASTM F1667 RSRS-01 (6@ og e L SHEATHING NAILING: 015 FSET 1640 1455 MSTA24 g-10d 9-10d
Exp. C (2 3/8" x 0.113") A 1/2"MIN. HORIZ. EDGE ﬁAlijDs?‘rmp 1030|1030 Cs20 7-10d 7-10d | FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET
730 mph[19/32° ASTM F1667 RSRS03 [6-1gy T e DIST. & 3/8" MIN. VERT. e UpIift SP|Uplift SPF|Stud Plate Tias To Stud To Plate GRAVITY LOAD REQUIREMENTS (ASSUME 1500 PSF BEARING CAPACITY UNLESS
(2) 2x4/6 SPF #2 DOUBLE TOP PLATE Exp. D (2 112" x 0.131") oc EDGE DIST. e e = T ios VISUAL OBSERVATION OR SOILS TEST PROVES OTHERWISE)
. or ASTM F1667 RSRS-04 7/16" 0SB FULLY BLOCKED NOTE:
T . (3" x 0.120°) 2X4 SPF #2~ | | FROM TOP PLATE TO BOTTOM PLATE  ADD 2ND STUD | [1085 |60 SP2 6-10d 6-10d CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 2500 PSI.
W AU TOE LS 140 mph ~[7/16" ASTMF1667 RERS-01  6gs & oc & SHEATHING ﬁ‘ ekl O oA 4 e . 8P Under or VT PS] |k DED WIRE REINFORCED SLAB: 6" x 6 W1.4 x W1.4, FB = 85KSI, WELDED WIRE
Exp. B (2 3/8" % 0.113") _ REACTION T 1235 11235 LSTA24 14-10d wrap under or over plate REINFORCEMENT FABRIC (W.W.M.) CONFORMING TO ASTM A185; LOCATED IN MIDDLE
140 mph _|[19/32" ASTM F1667 RSRS-03  |6-as . SPLICE MAY BE OMITTED IF FULL : Uplift SP|Uplift SPF|Holdowns @ Stemwall |To Stud / Post _ |Anchor OF THE SLAB; SUPPORTED WITH APPROVED MATERIALS OR SUPPORTS AT SPACINGS |
" : - 6" 0c 6" oc HEIGHT SHEATHING COVERS NOT TO EXCEED 3
i or ASTM F1667 RSRS-04 A UPPER TOP PLATE & BOTTOM 7/16" 0SB ——— = | [1826 [1800  |DTT2Z £-808 Wkt 12" 1R X1 Txen HD '
| or & | " n, 1
| (3" x 0.120) ﬁg;g | PLATE 1" MIN. 4235 (3640 HTT4 18-16dx2 1/2 1/2°x12" Titen HD FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER
| 0 ¥ - Uplift SP|Uplift SPF|Holdowns @ Mono To Stud / Post Anchor REINFORCEMENT. FIBER LENGTH 1/2 INCH TO 2 INCHES. DOSAGE AMOUNTS FROM 0.75
NOTE: W 140 mph  [19/32 ASTMF1667 RSRS-03  |6gwoo 6" oc WIS A f LSTAZ4 — = ’ e slondfol iootoib TO 1.5 POUNDS PER CUBIC YARD PER THE MANUFACTURER'S RECOMMENDATIONS.
SEAL ALL PENETRATIONS 24" MAX ¥ Exp. D (21/2"x 0.131") ] \\: 1825 {1800 DTT2Z 8-SDS 1/4"x1 1/2" |1/2'%6" Titen HD FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER TO PROVIDE ASTM C 1116
IN TOP PLATE AND FIRE & or ASTM F1667 RSRS-04 7/16" 0SB —-= ’ | [4235  [3640 HTT4 18-160x2 172" |1/2°12" Titen HD | CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL.
ST S e NI CORE albhannd, o | [Upiift SP|Uplift SPF | Post Bases @ Stemwall[To Post Anchor
APPROVED SEALANT 150 mph  |19/32" ASTM F1667 RSRS-03 66 oc 500 | - = LN = i P . CONTROL JOINTS: WHERE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL
Exp. C (2 1/2" x 0.131") 2200 ABU44 12-16d 5/8"x12" Drill & Epoxy BE CUT IN ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB
or ASTM F1667 RSRS-04 2300 ABUG6 12-16d 5/8"x12" Drill & Epoxy PLACEMENT. THE LENGTH / WIDTH RATIOS OF SLAB AREAS SHALL NOT EXCEED 1.5 AND
; (3" x 0.120%) : TYPICAL SPACING OF CUTS TO BE 12FT. DO NOT CUT WWM OR REINFORCING STEEL.
i NOTE: IF TRUSS BEARING LOAD : = o Uplift SP Uplift SPF|Post Bases @ Mono _ [To Post R (RECOMMENDED LOCATION OF CONTROL JOINTS IS SUBJEGT TO OWNER AND
| EXCEEDS 425 PSI USE SYP #2 Note: For sneathr_ng located a minimum of 4 1§ faet from the perimeter edge 2200 ABU44 12-16d 5/8"x7" Drill & Epoxy CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT
| TOP PLATES; IF IT EXEDS 565 PSI| | of the roof, includlng 4 feet on each side of I'!dr-idgas and hips. nail spacing 2300 ABUGB 12-16d 5/8"%7" Drill & Epony CRACKS BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ON A GIVEN LINE.)
ADD ADDITIONAL BEARING BLOCKS OR ; : : ter along pa R
USE SIMPSON TBE BEARING ENHANCER e o r ) ool alh 8 Ipanel edges and 6 inches on SHEATHING FOR UPLIFT REBAR: ASTM A 615, GRADE 40, DEFORMED BARS, FY = 40 KSI. ALL LAP SPLICES 40 * DB
center along intermediate supports in the panke| fig|q. —_—_— s (25" FOR #5 BARS); UNO. ALL REINFORCEMENT SHALL BE DETAILED AND PLAGED IN
Note: This table specifies the code minimum t 4 ik ness of roof sheathing. - ATTACHMENT DETAILS EXTERIOR WALL STUD TABLE FOR SPF #2 STUDS: ACCORDANCE WITH ACI 315-96, U.N.O.
The thickness of the sheathing may need to b, be increased based in the type e
2x4/6 SPF#2 STUDS : ; : ONE STORY WOOD FRAME | ROOF SHEATHING: ALL ROOFS ARE HORIZONTAL DIAPHRAGMS: SHEATHING,
of roofing material being used. See manufacticy,rer Fiorida product approval. | |THIS STUD HEIGHT TABLE IS PER 2012 WFCM, TABLE 3.20B5, UNBLOCKED, APPLIED PERPENDICULAR TO FRAMING, OVER A MINIMUM OF 3 FRAMING
SEE STUD TABLE PR T : ! U RA
e . ¥ — = —— = — T o & 1 EXTEREOR LOAD BEARING & NON LOAD BEAR'NG STUD LENGTHS MEMBERS, WITH PANEL EDGES STAGGERED.
/| FOR OVERHANGES 12" 24" USE ADROPESES SaiE maias Wi FOR WALLS WITH OSB EXTERIOR AND 1/2" GYP INTERIOR
5 : T H S STRUCTURAL CONNECTORS: MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS,
) 131% 3 5 MRS 10 o T ias it o0 GABLE TRUESAND mipser el . :.ESE’ EE&E%ESL?E;&N;;:"}N%B%A&:? i:gg g‘;ﬁ?ép;:?lq IgﬁE €. || ANCHORS, AND REINFORCEMENT ARE LISTER Eon B NUMBER FOR CON
(4) 131" 3. n OLOCK BETWEEN QUTLOOKER) ( )- AN EQUIVALENT DEVICE OF THE SAME OR OTHER MANUFACTURER CAN BE SUBSTITUTED
7/16" 0.5.B. WALL SHEATHING STUD SPACINGS SHALL BE MULTIPLIED BY 0.8 FOR FRAMING FOR ANY DEVICES LISTED IN THE EXAMPLE TABLES AS LONG AS IT MEETS THE REQUIRED
ALOK 2X4 LOOKOUT BLOCH, ” LOCATED WITHIN 4 FEET OF CORNERS FOR END ZONE LOADING. LOAD CAPACITIES. MANUFACTURER'S INSTALLATION INSTRUCTIONS MUST BE FOLLOWED
FULLY BLOCKED CK @ 24" OC PORCH HEADER i . TO ACHIEVE RATED LOADS
8d COMMON NAILS SEE STRUCTURAL PLAN (END ZONE EXAMPLE 16" O.C. x 0.8 =12.8 0.c) :
:Egg:;iﬁigé F%(;FIELD / ROOF SHEATHING (4) 131"X3 1/4" (1) 2x4 @ 16" OC TO 101" STUD HEIGHT ANCHOR BOLTS: A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN
ILS 7 DRAWINGS BUT NO LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR
UPLIFT ATTACHMENT DETAILS 7 : ¥ NA ‘ \ M 2x4 @ 12 0C TO 11-2" STUD HEIGHT it g edilpuch,
. // Pk (2) LSTA24 wi (7) 10d TO HEADER & (7) 10d TO POST 1) 2x6 @ 16" OC TO 15-7" STUD REIGHT
" L] 0
ik | - [M2x6@12"0cC TO 17-3" STUD HEIGHT BUILDER'S RESPONSIBILITY:
b u | -NOTCH HEADER INTO POST THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE
4" CONCRETE FLOOR SLAB REINFORCED INSTALL 2X4 SPF#2 DIAGONAL BRACE — fot (1 3/4" MIN. REMAINING POST THICKNESS) ' [GRADE & SPEGIES TABLE SPECIFICALLY NOT PART OF THE WIND LOAD ENGINEER'S SCOPE OF WORK.
WITH 6X6-1.4/1.4 WELDED WIRE MESH AND NAIL TO BLOCKING AT TOP CHORD i o (4) #10 DECK SCREWS AT CONFIRM SITE CONDITIONS, FOUNDATION BEARING CAPACITY, GRADE AND
| PLACED ON CHAIRS AT 1 1»‘2n':1 I?_EPTH ‘\DJEPOR BOTTOM CHORD AND RAT RUN @ 6' 0.C| ¥, TOP EDGE AND BOTTOM EDGE OF BEAM Eb: RE BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE.
. FIBER MESH CONCRETE, 6-MIL POLY / 2" MIN THREAD PENETRATION INTO HEADER
| SRETIEISEI ™ | s csonrog - greou e wer : sa| i (sl e e e Ny
| POLY TAPE OVER TERMITE-TREATED EDGE & 12" 0.C. FIELD BE NAILEDTO TRUSS WEBS : DESIGN PRESSURES
i AND COMPACTED FILL FOR LENGTHOVER 12' IT 6X6 SP #2 POST OR 2x10 SP #2 800 1.4 :
| B e B e / MAY BE'T" BRACED UP 4X4 SP#2 POST (SEE NO NOTCH NOTE BELOW) PROVIDE A CONTINUOUS LOAD PATH FROM TRUSSES TO FOUNDATION. IF YOU
- BLOGKING wi \ \—T0 12' AND UNBRACED 2x12 SP#2 750 [1.4 BELIEVE THE PLAN OMITS A CONTINUOUS LOAD PATH CONNECTION, CALL
. (4) .131"X3 1/4" NAILS o ABU POST BASE w/ (12) 16d & 5/8" ANCHOR DIATELY.
2X_PT SP #2 PLATE RIS el 2" MIN. EDGE DIST) GLB| 24F-V3SP [2600[1.9 TN E A DT
1/2" X 10" ANCHOR BOLT i 300\40 ¢ ‘ (4) 131°X3 1/4° i : VERIFY THE TRUSS MANUFACTURER'S SEALED ENGINEERING INCLUDES TRUSS
3% X 3* X 1/4" WASHER TOE NAIL TRUSS ¢d : Vi PORCH POST CONNECTIONS LSL [TIMBERSTRAND|1700(1.7 DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS,
' TO TOP PLATE \ NAILS P
a @ 32" OC & 8" FROM CORNERS ! A e Vi MICROLAM 1295012.0 TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR ALL
e 12d @ 6" O.C. L 1 ; f J Uplift| Post Top Connection |Bottom Connection| L ' BEARING LOCATIONS.
R ‘ A A 2300 |6x6 SP #2 PT|(2) LSTA21 ABUB6 { PSL| PARALAM [2900/2.0
f Hied ' ROOF SYSTEM DESIGN:
w/ (7)-10d TO TRUSS 2X'9X4X8' RAT RUN NAIL EACH ‘ J
. % (ﬂa -1 gdcT{J KVELL CONNECTION w/ (4) .131"X3 1/4" NAILS | [pOSTS CUT FLUSH WITHOUT NOTCH - BRACE TO PREVENT ROTATION: | .’ ;rSHBEASSEé?JL gﬁ' gEHEg%g@“ﬁ;g;g%%ggfg&%gg& e -
e (4) 131%3ix3 140 NAILS o e — “ TRUSS ENGINEERING SUBMITTED TO THE WIND LOAD ENGINEER. IT IS ‘
(8) 131"X3nes 4747 NAILS - STRAP TRUSS w/ H2.5A OR EQUAL TO EACH SIDE OF HEADER (FRONT & BACK) THE RESPONSIBILITY OF THE BUILDER TO CHECK ALL DETAILS OF THE
. COMPLETE ROOF SYSTEM DESIGN SUBMITTED BY THE TRUSS
ONE STORY WALL SECTION 2X4 SPF#2, USE LONGER STRAP AS NEEDED IF TOP PLATES ARE INSTALLED MANUFACTURER AND HAVE IT SIGNED, AND SEALED BY A DESIGN |
' i “#2 BLOCKING - (2) LSTA24 14-10 OR (2) MTS20 14-10d ON FRONT AND REAR OF POST TO HEADER :
L he A H3 INSTALI 2 : PROFESSIONAL FOR CORRECT APPLICATION OF FBCR REQUIRED
SCALE: 3/4" =10 MEEDEORERIOR 1 | e R TSI R A0 A RS LOADS AND ANY SPECIAL LOADS. THE BUILDER IS RESPONSIBLE TO |
; .. REVIEW EACH INDIVIDUAL TRUSS MEMBER AND THE TRUSS ROOF
SPACE RAT RUN & DIAGONAL BRACE 6'-0"gu g ¢ - EXTEND GABLE SHEATHING TO BOTTOM OF HEADER NAILED WITH 8d NAILS @ 6" MIN. | SYSTEM AS A WHOLE AND TO PROVIDE RESTRAINT FOR ANY LATERAL |
FOR GABLE HEIGHT UP TO 25'0" 130 MPH,;; Exp ¢ ENCLOSED pbribboesto ool b i kol o il e BRACING. THE BUILDER SHOULD USE CARE CHECKING THE ROOF
| ot = i " RESFONSLE Fo T TRUSS LAVoLY WhI WA SREAED 1 e |
(TYP.) GABLE BRACINGG DETAIL (TYP.) PORCH POST TRUSS MANUFACTURER AND THE TRUSS DESIGNER ALSO DENIES
| e e | RESPONSIBILITY FOR THE LAYOUT PER NOTES ON THEIR SEALED
l WOOD FRAME | ONE STORY WOOD TRUSS SHEETS.
| - OPTION: 1 (BUCKET) ] OPTION: 2 (POCKETED)
' ~ ! SEE "STRUCTURAL PLAN NOTE . : .
! | = 1/2" GWB UNBLOCKED FOR S(%Jérig) STJF_QQSPQNSR " ! .
’ T ; 5d COOLER NAILS ALL OTHER ING .
| TR S e 7" OC EDGE 10" OC FIELD IS NOTED ON STRUCTURAL PLA{ Mot Sk S e e NOTE:
| : o R s IF TRUSS TO BEAM
| | oss - g — BEAM § STRAPS ARE NAILED
| =1L == - : NOT REQUIRED UNLESS — HEADER STRAP TABLE Y 12;:3’1'! !R.:TAZI; e D
2X_ FULL HEIGHT STUDS (TYP) = a CALLED OUT ON B ) x | Qu » -
| = i ?l\ 2 STRUCTURAL PLAN Uplift |[Top Connection Bottom Connection I LI R / o % 3
i /// i \ g T R LSTA24, 14-10d wrap under plate 18-16d TO FACE @ E & g g
I " b e (6) .131"X3 1/4" TOE NAILED —, - <1235|LSTA24, 14-10d wrap over plate 1/2" x 10" Anchor bolt w/ 3" x 3" x 1/4" washer ¥ ! . f ©
| SdrG0 G FMIEL EEER ¢ ORBACK NALEDTHRU  ° must be located within 6" of king stud @ all door locations feaaID0RT " oo 0 QT
! 8d 12" OC NOT @ PANEL EDGES ——— g & Pisiins sl <1455|MISTA24, 18-10d header to jacks _ |DTT2Z ; : <65
@ Ellk e e < 1800/ (2) MSTA24, 18-10d header to jacks |DTT2Z : e 3 3] % E
Z 3 ||| SHEATHING MUST BE NAILED TO TOP 4, PLATES <2910|(2) MSTA24, 18-10d header to jacks |[HTT4 ! BENEATH 0 Sa?®
2 g ||| w/8d3" OC (NAILING MAY BE STAGGEFcorr, : ! s Pl s
OUTSIDE CORNER g % & SHEATHING NAILED TO HEADER E x %
" O
0T e 0 (DROPPED BEAM)
Z5
== s
s BEAM TO BEAR ON
© = @ | | | ALL HEADER JACK & KING STUDS SHA
1/2" GWB UNBLOCKED =z 82 | | | BE FASTENED TO EACH OTHER w/ (2) ;Aé'éws (2) 2X_SPF#2 JACKS
5d COOLER NAILS E = ||| 10d @ 8" OC STAGGERED A :
7" OC EDGE 10" OC FIELD gz3 r
I ——
A s S R T - 5. AT : |
_ xwmmw SRR T ,I SILL PLATE SPANS FOR 10'-0" WALL HEIGHT |
| 2X_FULL HEIGHT STUDS (TYP) NS0 T\ / ; '| (PERTABLE BELOW) ' || DESIGN |  MAX. SPANS FOR SPF #2 | BASED ON wrCM -
' S ' 7 2 TOE NAIL ENDS OF EACH PLY W, WINDSPEED | (1)2x4 | (2)2x4 | (1)2x6 | (2)2x6 | 'ABLEA-3.238 LSTA24, 14-10d
- . . Wi ) i |
- / : - ek sariaLs I S S e R B s o
0SB % | 2x6 = (6) .131"x 3.25" Al e T T v T o HEISHTS () ikl ed dimensions suprcede scale
‘ 18178 147 NAILS 12" 06— | 8d 3" OC @ PANEL EDGES " i i e Ll 52 %3 7 -3" | SPAN SHALL BE dimensions. Refer all ciestions to
- | ah | | | DIVIDED BY (H/10) —2X_PT SP#2 PLATE Mark Disosway, P.E. fc resolution.
' MO G TN B ' || CRIPPLES [ REQUIRED | | | S il Sl e £ / e é"1>l<}“1?ﬁm\0§-|2ﬂ VS EXP Do not praceed withou dlarification.
! ﬂ i o i) WITHIN 3" OF STUID PACK COPYRIGHTS AND PIOPERTY RIGHTS:
! Mark Disosway, P.E. hreby expressly reserves
: its common law copyrihts and property right in
I CORNER . these instruments of sevice. This document is
not to be reproduced, itered or copied in any
TYP l CAL H EADE R STRAPlD‘ NG D ETA' L DESIGN CRITERIA & LOADS: form or manner withoufirst the express written
'\ = ermission and conser. of Mark Disosway.
§ (TYP.) CORNER FRAMING ONE STORY WOOD FRAME w/ STRAPS & ig ANCHORS (TYP.) BEAM TO WALL EONG CO5E e P 4
J . ALLOWABLE UPLIFT: FLORIDA BUILDING CODE RESIDENTIAL CERTIFICATION: | hesby certify that | have
WOOD FRAME WOOD FRAME w/ STRAPS & ANCHORS 1235LB (2020) examined this plan, an that the applicable
. == =1 - . = s R — ———— & = = == == Tt ; | =% =" T e = ¥ CODE FOR DESIGN LOADS ASCE 7-16 portions qf!he plan, ral_ling to Wmd engineering
| g fo e T SR, | B S e
| w/ (16) 131"X3" NAILS / -131"X3 1/4" NAILS SPH_@ : : BASIC WIND SPEED 130 MPH . to the best of my knowadge.
‘ ‘ (? Egg gg St At el R ' 2X6 SP #2 GARAGE DOOR BUCK ATTACHMENT QECRTI0E 28D LIMITATION: This desin is valid for one
E‘d FOR 2X8 INSTALLED HORIZONTALLY N i ATTACH GARAGE DOOR BUCK TO STUD PACK AT WIND EXPOSURE c building, at specified loation.
| (5) FOR 2X10 S EACH SIDE OF DOOR OPENING WITH 3/8"X4" LAG (BUILDER MUST FIELD VERIFY)
: o 2) 2X SPF #2 TOP PLATE SCREWS w/ 1" WASHER LAG SCREWS MAY BE | TOPOGRAPHIC FACTOR |
= = = NAILED TOGETHER wi COUNTERSUNK. HORIZONTAL JAMBS DO NOT (BUILDER MUST FIELD VERIFY) MARKRISON PR G303D
. 131"X3" NAILS @ 8" OC TRANSFER LOAD. CENTER LAG SCREWS OR 2 5t B CATEGTRY -
| , STAGGERED STAGGER 16d NAILS OR (2) ROWS OF .131X3 1/4 o 48 wa
! ) GN PER TABLE BELOW: ENCLOSURE CLASSIFICATION _ |ENCLOSED anestiting,,
' i | 75 oW oF INTERNAL PRESSURE 0.18 o (L Vo
-. DOOR WIDTH | 3/8"X4" LAG Ao el COEFFICIENT _ >
. ‘ STAGGER | 15199 1€ NALS ROOF ANGLE 7-45 DEGREES ' %,
S e | 8- 10 24" OC 5" 0C 5" OC MEAN ROOF HEIGHT 30 FT (=%
| e B STUD PACK - e e C&C DESIGN PRESSURES [SEE TABLE S
| UNDER POINT LOAD FLOOR LOADING da.t
a NAIL EACH PLY = 5 y Ry o
w/ .131"X3.25" NAILS 15~18 18500 a'oc ¥y 0oc ROOMS OTHER THAN 40 PSF LIVE LOAD OF sWs
@ 6" OC STAGGERED - SLEEPING ROOM O 7, Slué
| | SLEEPING ROOMS 30 PSF LIVE LOAD %, i oW @ ‘g
‘ iy : &
| ROOF LOADING et
| FLAT OR <412 20 PSF LIVE LOAD 48034, 2021
N 41270 < 12:12 16 PSF LIVE LOAD
r 0 1212 & GREATER 12 PSF LIVE LOAD
s ' SOIL BEARING CAPACITY 1500 PSF Mark Disssway P.E.
e bl 5 bt ABEEREROR S FLOOD ZONE THIS BUILDING IS NOT IN THE FLOOD ZONE 163 SW Miltown Place
[ I ) bl BRACKET. Suit 103
— NAIL SILL P | ! : -
| i END%SI%R TOEL@FQ;E_TO SHey Lake City, Rorida 32025
| / (ST NS ! COMPONENT & CLADING DESIGN PRESSURES 130 MPH (EXP C)| 386.7'4.5419
. . 72 : EFFECTIVE ZONE 4 ZONE 5 | | i an@amail.com
/ Egg Egs §§§ ; : WIND AREA (FT2)  |INTERIOR END 4 FROM ALL | disoswaydesin@g L0
| / @ FOR2X10 | OUTSIDE CORNER ‘
J : ' ' 0-20 +25.6(Vasd) 27.8(Vasd) | +25.6(Vasd) -34.2(Vasd) , 3
. ‘ =t I I ' 3 0-20 +42.6(Vult)y  -46.2(Vulf) +426(Vult)  -57(Vult) JOB NUMBER:
|
| - \MIN, 12" ANCHOR (TYP.) GARAGE DOOR BUCK INSTALLATION GARAGE DOOR DESIGN PRESSURES 130 MPH (EXP C) _ 210335
' ‘ (TYP.) WALL CONNECTIONS WITHIN 6" EACH SIDE s i 9x7 GARAGE DOOR +22.6(Vasd)  -25.5(Vasd) |
- OF PLATE JOINT 7(Vasd) -24.1(Vasd S-1
| ONE STORY WOOD FRAME ‘ 16x7 GARAGE DOOR +21.7(Vasd)  -24.1(Vasd)
L B . = e Pl z - - = et — i = — Ly = ——=— = -t R ke —— — — == OF 2 HEETS

H419y s~




SEE PORCH
’ POST DETAIL (TYPICAL)

(2) 2x12 SP#2 HEADER OR

(2) 2x12 SP#2 HEADER OR (2) 2x12 SP#2|HEADER OR ) 2x12 S
(2) 1.75" x 9.25" LVL PORCH HEADER (2) 1.75" x 9.25" LVLL PORCH HEADER _(2) 1.7?_. X 9.25 LVL PQBCH_HEAD_EB ________ - |
EEESS R e PRI, | Dmeeee i Sy —_—————————— —————  — ——  — — ———f----e-—-—-===2% g m—
) e
i e = -
e ; : o o - I |m _l
_I 1
QBIH 83y
<o W LE83
Wy _ = = e — : :: i =
o = G,E':T ,éﬁlzii
o l: IIEE: i
ezl Bz
_:g;:;%%%%:r—— = ——— — e :TESL,;EE_
S9! X SR
—~ a 11 ! |;;[r
e S N — e |
11 SEE BEAM SEE BEAM |
I
'l TOWALL TO WALL ! |

DETAIL NAIL TRUSS TO TOP OF WALL w/ .131" x 3 1/4" NAILS @ 6" OC

SWS=40.0

DETAIL .

TO WALL

ENGINEERED TRUSSES
ATTACH PER TRUSS UPLIFT

BUILDING IS BASED ON TRUSS LAYOUT SHOWN
w/ 20 PSF DEAL LOAD + 16 PSF ROOF LOAD
(BUILDER IS TO VERIFY BY REVIEWING SEALED TRUSSES)

_DETAIL (i
r§;__':____ e ———— T EE ! —_—
S Q_
| ey M3
| = i, s e IE' ]
e ————— e —— T -
- %LL.
[l
al
°3.,
= — E s —
8 L
{ 1
= S— — i
I v
hEp
1O o
— — - — o

" 3/8" MIN SHEATHING ON CEILING

S BEAM|(BUILD
|

w/ 8d @ 6" OC EDGE & FIELD & '
(TYPICALTHIS PORCHONLY) 2!
¥ e i P, - i e e e e w'( 1
X =0
Ny
I 1 ) Sa
mr - o3|
I AN
il - B & |

I
-

THIS DESING IS BASED ON TRUSS LAYOUT

WIT?“ NO NEﬁATIVE FEARINﬁ ON THF
|

1 -
.. g 11
o e oyl
N [}
— —— : s ——— %% : : R B T
(3) FULL HEIGHT STDUS @ EACH END OF WALL 2 g i
w/ HDU8-SDS2.5 HOLD DOWN } Ll
(20) 1/4" x 2 1/2" SDS SCREWS TO STUDS | . _— — s E—
7/8° THREADED ROD DRILLED =9
6" MIN INTO PAD FOOTER WITH SET EPOXY I
(OR WET SETS WITH NUT / 3" WASHER / NUT COMBO B 8 |
(-4 LHV D-HOMGFFOOHER = SEE_BEAM — — t —
| TOWALL
1(2) 2X10X10°,1J 3K |(2) 2X10X110°,1J 3K /
—//
STRUCTURAL PLAN SEE PORCH —
POST DETAIL (TYPICAL)
SCALE: 1/4" = 1'-0"
STRUCTURAL PLAN NOTES HEADR LEGEND

SN-1 ALL LOAD BEARING FRAME WALL & PORCH HEADERS
- SHALL BE A MINIMUM OF (2) 2X6 SP #2 (U.N.O.)

ALL LOAD BEARING FRAME WALL HEADERS
SHALL HAVE (1) JACK STUD & (1) KING STUD
EACH SIDE (U.N.O.)

SN-2

ALL HEADERS w/ UPLIFT TO BE STRAPPED DOWN @ EACH SIDE

WITH (1) LSTA24, 14-10d @ TOP & BOTTOM OF WALL

WRAP UNDER BOTTOM PLATE & OVER TOP PLATE

1/2" X 10" ANCHOR BOLT w/ 3" X 3" X 1/4" WASHER

MUST BE LOCATED WITHIN 6" OF KING STUD @ ALL DOOR LOCATIONS (U.N.O.)

SN-3

SN-4  USE ONE JACK STUD GIRDER SUPPORT PER 2500 LB LOAD
DIMENSIONS ON STRUCTURAL SHEETS

ARE NOT EXACT. REFER TO ARCHITECTURAL

FLOOR PLAN FOR ACTUAL DIMENSIONS

SN-5

PERMANENT TRUSS BRACING IS TO BE INSTALLED AT
LOCATIONS AS SHOWN ON THE SEALED TRUSS DRAWINGS.
LATERAL BRACING IS TO BE RESTRAINED PER BCSI1-03,
BCSI-B1, BCSI-B2, & BCSI-B3. BCSI-B1, BCSI-B2, & BCSI-B3
ARE FURNISHED BY THE TRUSS SUPPLIER, WITH THE SEALED
TRUSS PACKAGE

SN-6

‘(21 2X107,1J 1K |

A |

HEADER/BEAM CALL-OUT (U.N.O.)

T;NUMBER OF KING STUDS (FULL LENGTH)
NUMBER OF JACK STUDS (UNDER HEADER)
SPAN OF HEADER

SIZE OF HEADER MATERIAL

NUMBER OF PLIES IN HEADER

ACTUL vs REQUIRED SHEARWAL_I:

TRANSVERSE LONGITUDUNAL |
ACTUAL 19440 LBF 25146 LBF l
REQUIR 9723 LBF 13477 LBF J

CONCRETE SLAB -—\

\

______

L

MONOLITHIC FOOTTING

=~ 1251\ X 20" D FOR HOUSE
i MOjoNO FOOTING
W/ (/ (2) #5 CONTINUOUS

1
@ SCALE: 1/2" = 10"

—————ABU POST BASE w/ (12) 16d
(2" MIN. EDGE DIST)

NO SLAB

==y

1
|
[}
-
I
I
I
I
I
I
|
I
|
|
I
1
]
]
I
|
I
|
1
|
I
|
I
|
!
]
I
I
I
|
-
|
T
|

-

I
I
I

i e B i W U D e T N el B e R ST

/A

w/ 5/8" ANCHOR BOLT
7" MIN EMBEDMENT INTO PAD

— OPTIONAL CURB

36" x 36" x 18"
PAD FOOTER

/F2, PAD FOOTING @ P5ORCH POST

@ SCALE: 1/2" = 10"

i
I
|
|
|
|
|
|
|
|
|
|
|
w/ (5) #5 EACH WAY |
|
|
|
I
|
|
|
|
|
|
|
|
I
|
|
|

CONyNCRETE SLAB

GAR\RAGE DOOR
/ POC)ckeT

3/4"

(F5", GARAGE DOOR POCCKET FOOTING

/
p v
=

12" Voyy x 12" D MIN.
MONNO FOOTING
W/ (2 (2) #5 CONTINUOUS

@ SCALE: 1/2" = 1'-0" o

[ L30" X 60" x 12"

FOUNDATION NOTES

*N - 1|DIMENSIONS ON FOUNDATION & STRUCTURAL SHEETS
ARE NOT EXACT. REFER TO ARCHITECTURAL PLANS
FOR ACTUAL DIMENSIONS, RECESSES IN SLAB,

STEP DOWNS, ETC. DISOSWAY DESIGN GROUP OR
MARK DISOSWAY, PE IS NOT RESPONSIBLE FOR
DIMENSION ERRORS ON THIS PLAN.

EN CONTRACTOR SHALL VERIFY NEED FOR INTERIOR BEARING
*N - 2|IN ALL AREAS BY REVIEWINGTHE ROOF TRUSS PLAN
(BY THE SUPPLIER) BEFORE FINALIZING FOUNDATION PLAN

FN 5N"3[THE SLAB SHALL BE: 4" CONCRETE SLAB REINFORCED w/
6X6-1.4/1.4 WELDED WIRE MESH PLACED ON CHAIRS

@ 1 1/2" DEPTH OR FIBER MESH CONCRETE, 6-MIL

POLY VAPOR BARRIER w/ 6" LAPS SEALED wi

POLY TAPE OVER TERMITE-TREATED & COMPACTED FiLL
(ALSO, ANY OTHER CODE APPROVED TERMITE-TREATMENT
METHOD CAN BE USED INSTEAD)

0" SLAB
ELEVATION

(3) FULL HEIGHT STDUS @ EACH EIND OF WALL
w/ HDU8-8DS2.5 HOLD DOWN
(20) 1/4" x 2 1/2" SDS SCREWS TO STUDS
7/8" THREADED ROD DRILLED
6" MIN INTO PAD FOOTER WITH SET EPOXY
(OR WET [SETS WITH NUT | 3" WASHER / NUT COMBO
@ 4" FROM BOTTOM OF FOOTER)

_____________________________________

F1

NON-STRUCTURAL
SLAB ON GARDE

_______

PAD FOOTER
(BELOW GRADE)
w/ #5 @ 8" OC EACH WAY

FOUNDATION PLAN

SCALE: /4" = |'-0"

——————————

__________

NO SLAB

__________

PAD FOOTER
(BELOW GRADE)
w/ #5 @ 8" OC EACH WAY

NOTE: FOR STEM WALL FOUNDATIONS
/ OVER 5 COURSES IN HEIGHT THE SLAB
j IS REQUIERED TO BE ATTACHED TO THE
/ STEM WALL @ BOND BEAM w/

2' X 2' #5 CORNER REBARS
(1) LEG EXTENDING INTO SLAB &
// (1) LEG LAPPED w/
THE HORIZONTAL BOND BEAM REBAR
/ SPACED THE SAME AS VERTICAL REBAR

CONCRETE SLAB—
0 (1) #5 CONTINUOUS IN
\‘\ /7 HEADER-BLOCK BOND BEAM @

- j / SLAB EDGE INTERSECTION w/ STEMWALL
—y—y
"B #5 VERT. REBAR w/ STD. HOOK IN FOOTING
Tt @ EACH CORNER & 72" OC
[ e gx8X16, RUNNING BOND,

CMU STEM WALL, MAX 5 COURSES

1|0 (SEE SPECIAL REINFORCEMENT
3" MIN. TABLE FOR MORE THAN 5 COURSES)

COVER (TYP/p) | o .

~e——20" W X 10" D POURED
CONCRETE STRIP FOOTING
w/ (2) #5 REBAR CONTINUOUS

ObPTIONAL STEM WALL FOOTING

SGscALE: 1/2* = 1-0°

TALL STEM WALL TABLE:

The table assumes 40 ksi for #5 rebar and 60 ksi for #7 & #8 rebar with 6" hook in the

footing and bent 24" into the reinforced slab at the top. The vertical steel is to be placed
toward the tension side of the CMU wall (away from the soil pressure, within 2" of the exterior
side of the wall). If the wall is over 8' high, add Durowall ladder reinforcement at 16"0C
vertically or a horizontal bond beam with 1#5 continuous at mid height. For higher parts of
the wall 12" CMU may be used with reinforcement as shown in the table below.

STEMWALL | UNBALANCED VERTICAL REINFORCEMENT VERTICAL REINFORCEMENT
HEIGHT BACKFILL FOR 8" CMU STEMWALL FOR 12" CMU STEMWALL
(FEET) HEIGHT (INCHES O.C.) (INCHES 0.C.)

#5 #7 #8 #5 #7 #8
3.3 30 9 96 96 96 96 96
40 | 37 96 9 9 96 96 96
47 43 - 88 96 96 96 96 9
5.3 50 56 96 9% 96 96 9
6.0 57 40 80 96 80 96 96
6.7 6.3 32 56 80 56 96 96
7.3 7.0 24 40 56 40 80 9
8.0 7.7 16 32 48 32 64 80
8.7 8.3 8 24 32 24 48 64
9.3 9.0 8 16 24 16 40 48

g T

Ed Capp Carage

PROJECT ADDRESS
422 SW Grey Way

High Springs, FI 32643

MASONRY NOTE:

MASONRY CONSTRUCTION AND MATERIALS FOR THIS PROJECT
SHALL CONFORM TO ALL REQUIREMENTS OF "SPECIFICATION
FOR MASONRY STRUCTURES" (ACI 530.1/ASCE 6/TMS 602).

THE CONTRACTOR AND MASON MUST IMMEDIATELY, BEFORE
PROCEEDING, NOTIFY THE ENGINEER OF ANY CONFLICTS
BETWEEN ACI 530.1-02 AND THESE DESIGN DRAWINGS.

ANY EXCEPTIONS TO ACI 530.1-02 MUST BE APPROVED BY

THE ENGINEER IN WRITING.

ACI530.1-02 Section Specific Requirements

DIMENSIONS:

Stated dimensions suprcede scaled
dimensions. Refer all gestions to
Mark Disosway, P.E. foresolution.
Do not proceed withouclarification,

COPYRIGHTS AND PIOPERTY RIGHTS:
Mark Disosway, P.E. heeby expressly reserves
its common law copyriots and property right in
these instruments of sevice. This document is
not to be reproduced, etered or copied in any
form or manner withoufirst the express written
permission and conser of Mark Disosway.

CERTIFICATION: | herby certify that | have
examined this plan, an that the applicable
portions of the plan, reiting to wind engineering
comply with the 7th Edion Florida

Building Code Residerial (2020)

to the best of my know:dge.

LIMITATION: This desin is valid for one
building, at specified loation.

1.4A Compressive strength 8" block bearing walls F'm = 1500 psi

21 Mortar ASTM C 270, Type N, UNO

22 Grout ASTM C 476, admixtures require approval

23 CMU standard ASTM C 90-02, Normal weight, Hollow,
medium surface finish, 8"x8"x16" running
bond and 12"x12" or 16"x16" column
black

23 Clay brick standard ASTM C 216-02, Grade SW, Type FBS,
5.5"x2.75"x11.5"

24 Reinforcing bars, #3 - #11 ASTM 615, Grade 40, Fy = 40 ksi, Lap
splices min 40 bar dia. (25" for #5)

2.4F Coating for corrosion protection Anchors, sheet metal ties completely
embedded in mortar or grout, ASTM
A525, Class G60, 0.60 oz/ft2 or 304SS

24F Coating for corrosion protection Joint reinforcement in walls exposed to

moisture or wire ties, anchors, sheet metal
ties not completely embedded in mortar or
grout, ASTM A153, Class B2, 1.50 oz/ft2
or 30455

MARK DISOSVAY P.E. 53915

)

\

&R » \\

£/ *"'

%@
%
fagggnentt®

L ] .
L] o
*espean®

VAL BN
' fal A
’*"Nlumi“
Wednesday, larch 24, 2021

i

o

L)

ui

B )ﬂ
Il 4
%,

3.3.E2 |Pipes, conduits, and accessories |Any not shown on the project drawings
require engineering approval.

3.3E7 |Movement joints Contractor assumes responsibility for type
and location of movement joints if not

detailed on project drawings.

BOTTOM OF EXTERIOR FOOTINGS SHALL BE A MINIMUM OF
12" BELOW UNDISTURBED SOIL OR ENGINEERED FILL

Mark Dis)ssway P.E.
163 SW Miltown Place
Suie 103
Lake City, Horida 32025
386.7/4.5419
disoswaydesgn@gmail.com

JOB NUMBER:
21(335

$-2

OF 2 {HEETS

T R O O A |




	001.PDF
	002.PDF
	003.PDF
	004.PDF
	005.PDF
	006.PDF
	007.PDF

